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Same distribution
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Old z-vertex simulation

Getting parameters
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Energy (eV)
EXT PARAMETER PARABOLIC
NO. NAME VALUE ERROR
1 g mean shift [eV] 4.95963e+01 1.58908e+00
2 g sigma factror [eV] 1.07244e+00 1.24544e-02
3 t area factor 1.40976e-01 1.35423e-03
4 t slope beta 8.87743e-01 2.47890e-02
5 G area 9.58740e+05 3.40320e+03
6 G mean [eV] 6.46382e+03 3.06768e-01
7 G sigma [eV] 8.19374e+01 fixed

New z-vertex simulation
[ Unified fit (Gauss response) | 6463.5 eV
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EXT PARAMETER PARABOLIC
NO. NAME VALUE ERROR
1 g mean shift [eV] 4.85936e+01 1.58194e+00
2 g sigma factror [eV] 1.06570e+00 1.25023e-02
3 t area factor 1.41701e-01  1.39344e-03
4 t slope beta 9.10752e-01 2.45105e-02
5 G area 9.14843e+05 3.32779e+03
6 G mean [eV] 6.46360e+03 3.14230e-01
7 G sigma [eV] 8.19357e+01 fixed

No significant difference



